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Management

Time: Three Hours C B e SETEN Ful.i";Marks:-;ﬂ?-O(l)

Different parts of the same questton should be answered together .
(Answer only required number of questions. Any extra question answered shall be ignored.)

1. Answer any one from:(a) and (b) in this:block 1x25=25
co1 e B
[25] | (a) Explain features of management. Summarise ‘functions of top- and mid-level management. Describe
' merits and demerits of scientific management.-What aré the-benefits of MBO? = - - 5+9+6+ 5
’(b) Enumerate the steps in decision makmg Tostrate with an exampte varlous methods of decision’ makmg
under unce:tamty Expialn the precess ofﬁndmg out EVPI s DR 5+15+5
2 Answeranytwo from (a), (b) and (c) in this block R T 2x10=20
co2 E e
[20] | (a) Enumerate the basic requurements of an: mdustnat retatlon programme.’ What are’ the functions of
trade union? 2+5
(b) Explain causes of -industt:'ia[-disputes‘-..-:: L : s L 10
(c) What are the drawbacks of wage mcentlve ptan? Summartse stratght pteee rate system of wage
incentiveplan. . . -« S T L 5+5
- | '3.‘AnsWer'any'o'he@fzre;ni;;(etehd;(bz)'-in\;t:hi'etbleett{'\ » ' - \ TTTIX20=20
co3 S ‘ .
[20] | (a) When does a facility location decision arise? Explain locational factors of raw materials and
-1 component sources for deciding facility location. Present a sample diagram of fixed position layout.
What are the advantages and disadvantage,s-.eteﬁxeda.positiom--;layeut? t 3 .-.t 6+5+6
(b) (1) Explain batch production, L e "5:
(i) Determine an initial basic feasible solution to the fotlewmg transportatlon problem by using LCM and .
VAM: _ . 649
‘ Destination
LT . D2 D3 D4 Supply
A 11 13 17 14 250
Source ‘ _
B 16 18 14 11 300
ic 21 24 13 10 400
Demand 200 225 275 250
1




4, Answer any one from (a) and (b) rn thls block : 1x20= =20

Co4
T20F - (a) Enumerate objecttves of market research What are the scc;pes of market research’? Explain-market
researchtechmques o d el s oy sl e T+7+6
* (b) What are the objectrves of product packagrng?tﬁescnbe various: methods of sales:promotions. Define
advertising. Enumerate func’uons of adverhsrng : $5+6+2 +7
T 5. Answer any one fromia) and (b) In s ok . ixi5e
CO5 :
{a) - A shopkeeper estimates the annual requirements:of an:item as'2,000 units:-He buys it-from his

[15]

| Month {®) - 1 2 3 4 5 6

supplier at a cost of Rs. 20 each;and the ordering costis: Rs:-100 per-order. If the-stock
holding costs are 25% per year of stock value, how frequently should he replenish his stocks?
Further, suppose the supplier offers:a. 10%:disceunt on orders between 400 and 699 items,
and a 20% discount on orders exceeding or equal to 700, Can the shopkeeper reduce his
costs by:taking advantage of either of these discounts? - - L 5+10

{b) Alarge Portiand manufacturer wants to forecast demand for a piece of potlutlon-control equipment.
The review of past sales, as shown below, indicates’thatian'inereasing frendiis present. .

CActuatDemand' Ay - [120 T {20 e o -
- Smoothing constants are assrgned asa= 0 2 and B 0.4, The company assuihes the initial
forecast for month 1 (F1) as 11 units, and the trend over that period (Tt) was 2 units. Compute
_ trend adjusted expenentially smootrte‘d demidrnid forecast for the month6; ' 15

€O1: Classify various concepts and pnncrples of management K2y

CO2: Analyse concepts of personnel management (K4)

CO3: lliustrate different problems of plant management. (K3)

CO4:Interpret basics of marketing management. (K3) - -
COS5: Apply various concepts of materials management and forecasting, (K3)

vo.




